DPP - Daily Practice Problems

Chapter-wise Sheets

Date : Start Time : End Time :

MATHEMATICS (o3

SYLLABUS : Trigonometric Functions

Max. Marks : 120  Marking Scheme : (+4) for correct & (—1) for incorrect answer Time : 60 min.

INSTRUCTIONS : This Daily Practice Problem Sheet contains 30 MCQs. For each question only one option is correct.
Darken the correct circle/ bubble in the Response Grid provided on each page.

1. Ify=cos?x + secx, then 3. Ifan angle ¢ is divided into 2 parts A and B such that
A—-B=kandA+B=0andtan A:tan B=k%: 1, then the
@ y<2 ®) y=l value of sin k is :
(c) y=2 d l<y<2 k.
) (@) —: +1 sin® (b) P sin®
, sin®+sin20 -
2. Periodof ————is k-1 .
cos 0+ cos 26 () ——sin0 (d) None of these
k+1
(@ 2= b =« Y
4. 1If 2ycos0=xsin0 and 2xsecO— ycosec 6 =3, then
27 ) )
© 3 (@) 3 x“+4y° =
(@ 4 (b -4
©) +4 (d) None of these
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5.  The equation sin* x+ cos* x = a has a solution for @ 6sinA () 7sinA
(@) all of values of a b) a=-1 © J6cosA @ J7cosA
_ 1 d 1. a<l 11.  General solution of the equation
© @a==3 @ 3=a= (B -Dsin0+ (3+1)cosB=2 is

6. Ifforn eN, f,(0)=tan 6/2 (1 + sec 0) (1+sec 20) (1 + sec
40) .... (1 + sec 2"9), then correct statement is
(@ f,(W16)=1 () f;(W32)=1
© fy(wed)=1 (d) All of these

. cos6x+6cosdx+15cos2x+10 . 12.
7.  The expression is equal
cosSx+5cos3x+10cos x
to
(@) cos2x (b) 2cosx
(¢) cos?x (d) 1+ cosx.
T in(o+ B+
8. Ifa.B.y 6(0, —) »then — s1n(a_ B Y.)
2 sino +sinf +siny
@@ <1 (b) >1
© =1 (d) None of these
9.  The value of
13.
T 3n I I
14+cos— || 1+cos— || 1+cos— || 1 +cos— | is
10 10 10 10
1 1
@ 3 ®) 1¢
1
©) 3 (d) None of these
10. Ifsin A—«/gcosA: J7 cos A, then y

cos A+ [ sin A isequal to

@ 2nm+ls
4 12

(b) nn+(—l)"§

T T
c) 2nmt——— d) None
(© 2nn YR d)
The least positive non-integral solution of the equation

sinm(x? +x) = sinnx? is

(a) rational
(b) irrational of the form \/5

Jp-1

irrational of the form i where p is an odd integer

\/5+1

(d) irrational of the form 1 where p is an even integer

©

If A and B are positive acute angles satisfying

3cos? A+2cos’B=4 andM:m_SB

sin B cosA

Then the value of A+ 2B is equal to :

n T
@ 4 ®) -

T a "
© 3 @
The greatest and least value of sin x cos x are

1 1

@ 1,-1 ®) =5

1
© 373 @ 2,-2

5. OO 6 @E®OW
10.0000 1.O®OG

RESPONSE
GRID

7. @O
12.0000

8. @OOW 9 OO
B.OOOO M EOO®OO

Space for Rough Work

GP_3372



DPP/ CMO03

15.

1

a

17.

18.

19.
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Iftan (cot x) = cot (tan x), then

(@) sin 2x =# (b) sin x =L
2n+)n 2n+)n
(¢c) sin 2x =L (d) None of these
@r+D=
sinf = l( \/2 + \/Z} necessarily implies :
2\\y \x
@ x>y (b) x<y
() x=y

(d) both x and y are purely imaginary
If Pn =cos” 0+sin" 6, then pp — Pp_n =kp,_4. where:

@ k=1 (b) k=-sin?0cos?0

(© k=sin20 d) k=cos2@

Iff(x) = cos (log x) then

S B) —%{f (3 +f (xy)} isequalto:

@@ 0 ®b) 1
© -1 (d) none of these

Statement-1 : The maximum and minimum values of the
function

1

—  —  doesnot exist
6sin x —8cosx +5

f(x) =

Statement-2 : The given function is an unbounded function.

(a) Statement - 1 is false, Statement-2 is true

(b) Statement - 1 is true, Statement-2 is true ; Statement-2
is a correct explanation for Statement-1

(c) Statement -1 is true, Statement-2 is true ; Statement-2

isnot a correct explanation for Statement-1

Statement - 1 is true, Statement-2 is false

(@

] m-11]

2

cos? o + cos> B+ cos? Y

20. If0is an angle given by cos 6 = >

sin? o + sin? B+ sin? Y
where a, B, y are the equal angles made by a line with the
positive directions of the axes, then the measure of 0 is

Y Y
@) 3 (b) s
Y Y
© 5 (d) 1

21. sin 12° sin 24° sin 48° sin 84° =
(a) cos 20° cos 40° cos 60° cos 80°
(b) sin 20° sin 40° sin 60° sin 80°

3
© 15

(d) None of these
22. If S, =cos"0+sin" O then the value of 35, — 25y is given

by
(@ 4 ® 0
(© 1 @ 7
23. Thesetofall xin (-m, m) satisfying |4sinx —1| <J§ is
given by
n 3n T
(@) (‘5’ ﬁ) (b) (_E’ “)
3n
© (-=m, 7 (d ("" ﬁ)

1. Letf@) sin x cosx 3 )i
. Letf(x)= - then range of f{x) is
\/1+tan2x \/l+cot2x

(@) [-1,0] (®) [0,1]
© [-1,1] (d) none of these
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I w12}
If M=ﬂ, then tanx is equal to
sin(x—y) a-b
b a
a) — b) =
(@) p (b) 5
() ab (d) None of these

26. Statement-1: If o and B are two distinct solutions of the

o+ ﬁ) .
) Jis
independent of c.
Statement-2: Solution of a cos x + b sin x = ¢ is possible, if

—\/(az +b}) <c< \/(a2 +b%)

(a) Statement-1 is true, Statement-2 is true; Statement -2 is
acorrect explanation for Statement-1

(b) Statement -1 is true, Statement-2 is true; Statement -2
isnot a correct explanation for Statement-1

(c) Statement -1 is false, Statement-2 is true

(d) Statement -1 is true, Statement-2 is false

27. The value of tan? 0 sec?6 (cot?0 — cos20) is
@ 0 (b) 1

)

equation a cos x + b sin x = ¢, then tan (

N | —

(c) -1

28. If cos B+ cos 20+ cos 30 = 0, then the general value of Ois :

@ 0=2mnt2n/3 b) 0=2mntn/4
© O=mn+(-1Y2n/3 @ O=mr+(-1y'n/3
T

29. The maximum value of sin (x + %) + cos(x + 6) is in the

interval (03) if the value of x is

T T
(@ g (b) E

T T
© g (d) Z

30. If a, B, vy, 0 are the smallest positive angles in ascending

order of magnitude which have their sines equal to the
positive number X, then the value of

B Y

4sin= +3sin> +2sin—~ +sin§ is equal to
2 2 2 2

(@ 241-x (b) 241+x

© 24x (d) None of these
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Incorrect Net Score

Cut-off Score 40 Qualifying Score 58
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Net Score =TC8rréct x 4) — (Incorrect x 1j
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